JEE-Main-26-06-2022-Shift-2 (Memory Based)

Chemistry

Question: Ox1ides of nitrogen having an odd electrons is
Options:

(a) N2Os

(b) N20s

(¢) NO2

(d) N20

Answer: (¢)

Solution:

Question: PhNO> + Sn/HCl — A
A + NaNOz/HCl — B

B + B-Naphthol — C

Whatis C 7

Options:

(a)

Answer: (d)
Solution:
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+ — N=N + HCI
(B) B-Naphthol

2-Naphthol aniline dye
(Orange-red dye)

(2-Naphthol)

Question: Identify the s-block element which do not give flame Test?
Options:

(a) Na

(b) K

(c) Be

(d) Ca

Answer: (C)

Solution: Be and Mg arc the s-block clements that do not give flame test

Question: Which 1s not correct with respect to p-toluenesulphonychloride?
Options:

(a) It is hinsberg’s rcagent

(b) It forms a ppt which is solublc with alkali

(¢) Used to distinguish primary and secondary amines

(d) Tertiary amines do not react with 1t

Answer: (b)

Solution: It forms a ppt which is soluble with alkali only in casc of primary amings.

Question: Which of the following 1s a Metalloid?
Options:

(a) Bi

(b) Sc
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(c) Te

(d) Hg

Answer: (c)

Solution: Bi, Hg and Sc arc metals but Tc is metalloid

Question: Which of the following 1s BOD value of polluted water?
Options:

(a) 4 ppm

(b) 17 ppm

(¢) 8 ppm

(d) S ppm

Answer: (b)

Solution: Polluted water has BOD valuc = 10 ppm

Question: Which one of the following does not usually show +3 Oxidation state?
Options:

(a) La

(b) Lu

(c) Ce

(d) Gd

Answer: (¢)

Solution: Cerium shows 4 oxidation state as it obtains noble gas configuration.

Question: Which of the following water soluble vitamin cannot be excreted easily?
Options:

(a) BI

(b) B2

(c) B12

(d) B6

Answer: (¢)

Solution: Water soluble vitamin must be supplied regularly in dict because they arc readily
excreted in urine and cannot be stored (except vitamin Biz) in our body

Question: The correct order of nucleophilicity is

Options:

(a) HoO = OH

(b) NH2 = NH;

(¢) R-OH RO~

(dyH-F-F

Answer: (b)

Solution: Conjugatc anion of a spccics acts as a better nuclcophile. Hence, NH2 1s more
nucleophilic than NH3

Question: A nucleus has 2 types of radioactive decays. The half life of first is 3 hours and for
the second is 4.5 hours. Calculate the correct half lifc of nuclcus.
Options:
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(a) 0.56 hours
(b) 3.75 hours
(c) 2.23 hours
(d) 1.80 hours
Answer: (d)

Solution:
L
P 0.693
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3

Question: How many angular and radial nodes are in 4d orbital?
Options:

(a) 1.3

(b) 1,2

(c) 2, 1

(d) 1,0

Answer: (¢)

Solution:

Angular nodes = /

Radial nodes=n—-17 -1
Fordd, / =2andn=4
Angular nodes =2

Radial nodes=4-2-1=1

Question:

Hg(OAc),
o
>’\/ NaBH,

OH

(b)
OH
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Answer: (a)
Solution:

¢

Question: Tolucne can be casily converted into benzaldchyde by which of the following
reagents?

Options:

(a) CO, HCI1, Anhyd. AICI;

(b) Acctic acid, CS2

(c) (1) CS2 Chromyl chloride, (i1) HzO™

(d) Hz, Pd/BaSOu

Answer: (¢)

Solution:

Toluene

Question: Boiling of Hard watcr produccs

Options:

(a) CaCOs3 and Mg(OH):

(b) Ca(OH)2 and MgCQ;

(¢) CaCOs; and MgCOs;

(d) Ca(OH)2 and Mg(OH)2

Answer: (a)

Solution: Boiling of hard water causes the precipitation of calcium carbonate and magnesium
hydroxide.

Mg (HCO,), —"*-» Mg (OH), { +2C0, T

Ca(HCO,), — 5 CaCO, ¥ +1,0+CO, T

~—
("‘:.
% i —

OH

OAc

Hg(OAc),
I‘\.IaBH4

OH

CH(OCr(OH)OCI ) CHO
H oy
+ CrO.Cl —h
Chromium complex benzaldehyde
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Question: Match the Following.

Enzyme Function

) Invertasc (A) Starch to maltosc
1) Maltase | (B) Maltose to Glucose

[1T) Zymasc (C) Sugar to cthanol

IV) Diastase (D) Inversion of Cane Sugar
Options:

(@A) l->D; =B, Il >C; IV—> A
b I—=A11l->BIll>C,IV—>D
) ->D; I >CII-B; IV A
() I->CIIo>B Il —-AIV->SD
Answer: (a)

Solution;

[) Invertase = Inversion of Cane Sugar
[T) Maltasc = Maltosc to Glucosc

IIT) Zymase = Sugar to ethanol

[V) Diastasc = Starch to maltosc

Question: Number of molecules having two lone pairs on the central atom among the
following is:

CHa, H20, Xela, SF4

Answer: 2.00

Solution: XcF4 and H20

Mo A

7 X

F F

P
H H

Question: Number of electrons in tzg orbital of compound formed by reacting [Co(H20)]?

with excess NHz in the presence of air 1s ;

Answer: 6.00

Solution: [Co(H20)s]*" + 6NH3; — [Co(NH;3)s]*" + 6H20 + ¢
NH; with Co®* acts as a strong ligand.

Hence, all 6 electrons of Co will be present in t2, orbital,

Question: Ecu-Eunew = 10, T = 300 K, prexponential factor is given. Find ratio of Kea to
](.LI]]CEH.

Answer: 1.00

Solution:

Ecu-Eunen = 10, T = 300K

K = Ae B/RT
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Question: 6.1 g of CNG is supplicd with 208 g of oxygen. CO2 and H20O is produced with a
lot of heat. How much COz 1s produced? [Consider CNG as methane]
Answer: 17.00

Solution:
CH4+ 202 — COz + 2H20
6.1g 208 g

. 6.1
No. of moles CH4 = E =(0.38
No. of moles Oz = % = 6.5

CHa4 (CNG) is limiting reagent
0.38 moles CHa will produce 0.38 moles of CO2
Amount of CO2=038x44=16.72=17g
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